1. Find the equations for all VA and HA, if any. Find all Holes and

x.& int ts, if any. 3 - -
y nerceps any e 2)6 +8x — 10x %)((XH/YS)(

HA: )//_3_‘1-— :-\ﬁ 9x+9’ }X(xfi)fwg
Holes: X—l | Xt X’j
o X205 (1

y-int: Y-; D

Sec 9-4 Simplifying Rational Expressions

1. Factor all numerators and denominators

2. Cancel factors common to the numerator
and denominator

3. Restrictions are any values that make the
denominator zero at any point (beginning to end)



2. Simplify this rational expression. State ables
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3. Of all the houses in a certain neighborhood, 80% have garages. Of those

with garag 60°/ have two-car garages. Ifth 56 ho s with garage:
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calculator.

Simplify without a 36 ._'_':) 15 _ 3

Rational Expressions:
The ratio of two polynomials.

Polynomials: Have whole number exponents and
real coefficients.

A rational expression is in its simplest form when:

The denominator and numerator have no
common factors.



This is NOT a Rational Function, why?

sz —5x + 3 The nume_rator isn't
a polynomial!
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Sec 94
Simplifying Rational Expressions

e Factor all numerators and denominators

e Cancel factors common to the numerator
and denominator

¢ Restrictions are any values that make the
denominator zero at any point (beginning or end)



Simplify. State restrictions on the variable.
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Sec 9-4 Simplifying the Product or Quotient

of Rational Expressions
e Factor all numerators and denominators.

e [f mulitplying you can simplify within the same fraction
and/or cross cancel. Finish by multiplying numerators
and multiplying denominators so that you can write the
answer as a single fraction.

¢ [nstead of dividing, multiply by the reciprocal then simplify
as you would when multiplying.

e State restrictions on the variable.



Simplify. State restrictions on the variables 3
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Simplify. State restrictions on the variables.
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